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Physiological and Psychological Factors which Improve Performance

Answer four from five questions.
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1 Total for this question: 18 marks

To produce 2 successful triple jump, an athlete has to us€ his muscles and joints
effectively and demonstrate a high skill level.

Figure 1 shows @ triple jumper in the take-off phase of his jump.

Position A

Figure 1

(a) Name the joint action that has occurred at the hip, labelled position A in Figure 1,

and identify the main agonist that has caused this action. (2 marks)

® O Name and sketch the lever system operating at the knee during take-off,
clearly labelling the effort arm and the resistance arm. (4 marks)

(i) What are the advantages and disadvantages of this class of lever system?
(3 marks)

©) Successful triple jumpers will use their abilities to improve their level of skill.

Briefly explain the terms ability and skill. (2 marks)
(d) What are the characteristics of a skilled performance‘? (3 marks )

(e) The skill of triple jumping can be classified according to various skill continua.

Classify the long jump according to the following four continua and justify each of
your choices.

e opento closed

e self-paced or externally paced

o discrete to continuous

e grossto fine (4 marks )
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it 1
General Instructions
In the mark scheme ; separates single marks
/ indicates alternatives
CAO correct answer only
Equiv. Means allow any equivalent answers.
1. (a) 1. Extension/Hyper-extension
2. Gluteus Maximus/ Hamstring/ gluteals
(Do not credit gluts) 2 marks
Pivot/fulcrum effort/force Resistance/weight/load
Effort Arm
" Resistance Arm i
d) () Third class/order;

1.

2. Correct order of components/effort in the middle;

3. Effort arm drawn in correct place;

4. Resistance arm drawn in correct place. 4 marks

(i1)) Advantages (sub max 2 marks)

1. Wide range of movements possible;

2. The length of the resistance arm is long / force arm is short;

3. Speed of movement rather than force (also applies to first class lever);
4. Small movement of effort/force = large movement of lever;

5. (2™ class only) magnify the effect of the effort force.

Disadvantages (sub max 2 marks)

6. Effort / force arm is short / resistance arm is long;

7. Unable to move / lift much great resistance;

8. More effort / force required is greater than resistance / load / weight;
9. Known as mechanical disadvantage

Must link advantage / disadvantages in order to credit. (Do not
credit points 2 & 6 together, only credit if they qualify) (if wrong
lever in part b(i) can access 3 and 5, 9 but no others).
3 marks

(©) 1. Ability — something the person possesses / genetic / inherited
2. Skill is learnt
2 marks




